B B OE

108268 (L) 108278 (8)
<tZvo> mEEZ  fH BERT <kIvU> ezl A BERET
1 & 4x100mR F24ATR-8 9:30) X 9:15 1 #H%xZ 100mH F3HETR-8 9:30) X 9:15
2 B 4x100mR F3HATR-8 9:45 X 9:30 2| 5B 110mH F244TR-8 9:50) X 9:35
3 2  110mH F24ATR-8 1005 % 9:50 3 8  400mH F248TR-8 10100 % 9:55
4 % |400m F44HTR-8 10:20 =3 1005 3 1015
4 10:15 4 #Z  |100m F8HHTR-8 10:30 4~6 10:25
1~3 10:25 7-8 10:35
5 B 400m Fo#ATR-8 10:40, 4~6 10:35 1~3 10:45
7~9 10:45 4~6 10:55
6 % [100mH R 11:40 X 11:25 5 B 100m F13#4TR-8| 11:00 7~9 11:05
7 8 110mH S 11:50) 3% 11:35 10~12 | 11:15
8 % |1500m TRiR2#E 1220) X 12:05 13 1125
6 % |4x100mR R 11:50) % 11:35
. = |1500m TR 1240 1-2 12:25 7 8 | 4x100mR R 12:00) % 11:45
3-4 12:35 8 | % |100mH P 12100 % 11:55
10 & |400m R 13200 X 13:05 9 | HE |110mH R 12200 % 12:05
11 B 400m R 13:30) X 13:15 10| % 400mH P 12:40) % 12:25
12 % |RWz—FTYR | F3HATR-8 14000 % 13:45 11 8  400mH R 12:50) % 12:35
13 B  RHYI—FUR | FHATR-8 14200 % 14:05 12 & 100m R 13:000 % 12:45
13 B  100m P 13:10) % 12:55
14| % |3000m TRiR 148 13200 % 13:05
15 B |5000m TRiR2#8 1340, % 13:25
16, & RYI—TUR P 14200 % 14:05
17, B RYz—FUR P 14:300 % 14:15
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15 EEBk R 5 10:00 X 9:30 1 & =Bk R4 9:30 X 9:00
2 5B =Bk ®7 10:00 X 9:30 2 x (EEk ®’ 17 12:000 X% 11:30
3 % EMEBE  A-B | iR18-19 1200 X 11:30 3 B |EWiEER AB R26-26 12:000 X% 11:30
4 5 ES Bk ® 10 1200 X 11:30
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1B Ak ® 20 10:00 X 9:30 1 Hx fEhiE ® 20 10:00 % 9:30
2 X A& R 5 10:00 X 9:30 2 |—BRERNUT—E’ R1-7-4 12:000 X% 11:30
3 | —55 AR Ro209 10:00 X 9:30 3 BR mAir R 13:30 X 13:00
4 Bk PYH #15-4 12000 3% 11:30
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